2004
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5-2.

68.4%
31.6%
co2 CO2
()

1 63.2% [ 26.3% | 15.8% | 5.3% | 21.1% | 21.1% | 5.3%
89.5% [ 73.7% | 21.1% | 0.0% | 68.4% | 21.1% | 10.5%

36.8% [ 31.6% | 53%| 0.0%( 21.1% | 5.3% | 10.5%

52.6% [ 26.3% | 0.0% | 0.0% | 36.8% | 21.1% | 0.0%

5.3% (| 53%| 00%| 00%| 0.0%| 0.0%| 0.0%

2. 52.6% [ 26.3% | 31.6% | 10.5% | 10.5% | 26.3% | 15.8%
42.1% | 31.6% | 10.5% | 0.0% | 21.1% | 21.1% | 5.3%

10.5% | 0.0% | 21.1% | 21.1% | 5.3% | 36.8% | 31.6%

26.3%  21.1% | 0.0% | 0.0%| 53%| 53%| 0.0%

36.8% [ 15.8% | 53% | 0.0%( 10.5% | 53%| 5.3%

21.1% | 15.8% | 10.5% | 0.0% | 53% | 53%| 0.0%

57.9%  15.8% | 0.0% | 0.0% | 26.3% | 53%| 0.0%

36.8% [ 15.8% | 5.3% | 0.0% | 10.5% | 10.5% | 0.0%

0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%

3. 53%(| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
5.3%(| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%

21.1% | 21.1% | 0.0% | 0.0% | 10.5% | 53%| 5.3%

0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%

21.1% | 21.1% | 0.0% | 0.0% | 15.8% | 10.5% | 5.3%

0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0%
5.3%
0.0%
—/ 263% 737% 316% 263% 53%
3 co2 158% 21.1% 53% 00% 00%
3 co? 53% 00% 00% 00% 00%
| m— | 211% 684% 211% 368% 00%
— 211% 211% 53% 211% 00%
— 53% 105% 105% 00% 00%
—_—— 632% 895% 368% 526% 53%
100.0%
90.0%
80.0%
70.0%
60.0%
52.6%
50.0%
40.0% 42.1%
30.0%
20.0%
10.0%
0.0% [
— 26.3% 316% 0.0% 21.1% 15.8% 15.8% 15.8% 15.8% 0.0%
/3 co2 31.6% 105% 21.1% 0.0% 53% 105% 0.0% 5.3% 0.0%
/] co2 105% 0.0% 21.1% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
| — | 105% 21.1% 53% 53% 10.5% 53% 26.3% 105% 0.0%
—/ 26.3% 21.1% 36.8% 53% 53% 53% 53% 105% 0.0%
— 15.8% 5.3% 316% 0.0% 53% 0.0% 0.0% 0.0% 0.0%
—— 52.6% 42 1% 105% 26.3% 36.8% 21.1% 57.9% 36.8% 0.0%
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100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0%
== 00% 00% 211% 00% 211% 00%
—co2 00% 00% 00% 00% 00% 00%
—co2 00% 00% 00% 00% 00% 00%
= 00% 00% 105% 00% 158% 00%
— 00% 00% 53% 00% 105% 00%
== 00% 00% 53% 00% 53% 00%
—— 53% 53% 211% 00% 211% 00%

24




50.0%

50.0%
co2 CO2
()

50.0%  0.0% | 0.0% | 0.0% | 10.0% | 0.0% | 10.0%
60.0% [ 20.0% | 10.0% | 0.0% [ 30.0% | 0.0% | 0.0%
40.0% [ 20.0% | 0.0% | 0.0% | 30.0% | 0.0% | 0.0%
90.0% [ 50.0% | 0.0% | 0.0% [ 50.0% | 20.0% | 20.0%
10.0% | 0.0% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
30.0% [ 30.0% | 30.0% | 30.0% [ 20.0% | 10.0% | 10.0%
50.0% [ 30.0% | 20.0% | 20.0% [ 40.0% | 0.0% | 0.0%
20.0% [ 20.0% | 40.0% | 0.0% | 0.0% | 10.0% | 0.0%
10.0% | 0.0% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
30.0% [ 10.0% | 0.0% | 10.0% [ 0.0% | 10.0% | 0.0%
20.0%( 0.0%| 0.0%| 0.0%| 0.0%| 0.0% | 0.0%
40.0% | 10.0% | 10.0% | 0.0% [ 20.0% | 10.0% | 0.0%
30.0% [ 10.0% | 0.0% | 10.0% [ 20.0% | 0.0% | 10.0%
10.0% | 0.0% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
10.0% | 0.0% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%

0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
40.0% [ 30.0% | 0.0% | 0.0% (| 0.0% | 20.0% | 0.0%
20.0%( 0.0% | 0.0% | 0.0% | 10.0% | 0.0% | 0.0%
10.0% | 0.0% | 0.0%| 0.0% | 10.0%| 0.0% | 0.0%
10.0% | 0.0% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0% {1 [1 10.0%
0.0%
—= 00% 200% 200% 500% 00%
=—=co2 00% 100% 00% 00% 00%
—co2 00% 00% 00% 00% 00%
== 100% 30.0% 300% 500% 00%
— 00% 00% 00% 200% 00%
—] 100% 00% 00% 200% 00%
—— 500% 60.0% 400% 900% 100%
100.0%
90.0%
80.0%
70.0%
60.0%
50.0% 50.0%
40.0% M
30.0% 30.09
20.0%
10.0%
0.0%
| 30.0% 30.0% 20.0% 0.0% 10.0% 0.0% 10.0% 10.0% 0.0%
==co2 30.0% 20.0% 40.0% 0.0% 0.0% 0.0% 10.0% 0.0% 0.0%
E==co2 30.0% 20.0% 0.0% 0.0% 10.0% 0.0% 0.0% 10.0% 0.0%
| 20.0% 40.0% 0.0% 0.0% 0.0% 0.0% 200% 200% 0.0%
— 10.0% 0.0% 10.0% 0.0% 10.0% 0.0% 10.0% 0.0% 0.0%
| 10.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 10.0% 0.0%
—— 30.0% 50.0% 200% 10.0% 30.0% 200% 40.0% 30.0% 10.0%

26




100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0% 40.0%

30.0%

20.0% 0%

10.0% 0% [] 6-6% ® 10.0%

0.0% $-—0.0%

[ ] 00% 00% 300% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00% 00%
—coe2 00% 00% 00% 00% 00% 00%
— 00% 00% 00% 100% 100% 00%
— 00% 00% 200% 00% 00% 00%
[ ] 00% 00% 00% 00% 00% 00%
—— 100% 00% 400% 200% 100% 100%
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52.8%

47.2%
co2 CO2
()
13.9% | 83%| 0.0%| 0.0%| 0.0%| 2.8%| 0.0%
38.9% | 13.9% | 0.0% | 0.0% | 13.9% | 2.8% | 2.8%
19.4% | 2.8%| 0.0%| 0.0%| 83%| 56%| 2.8%
36.1% | 2.8%| 0.0%| 0.0%| 11.1% | 5.6% | 2.8%
5.6% | 28%| 0.0%| 0.0%| 0.0%,| 28%/| 0.0%
38.9% [ 13.9% | 30.6% | 8.3% | 13.9% | 8.3% | 2.8%
50.0% [ 25.0% | 13.9% | 8.3% | 11.1% | 5.6% | 8.3%
13.9% | 8.3% | 11.1% | 5.6% | 8.3%| 13.9% | 0.0%
25.0% 2.8%| 0.0%| 0.0%| 2.8%| 0.0%| 5.6%
16.7% | 2.8% | 0.0%| 0.0%| 56%| 2.8%| 2.8%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
13.9% | 2.8%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
27.8% | 28%| 28%| 0.0%| 28%| 83%| 2.8%
83% | 56%| 2.8%| 2.8%| 2.8%| 0.0%| 5.6%
28% | 28%| 2.8%| 0.0%| 0.0%| 0.0%| 0.0%
28% | 28%| 0.0%| 00%| 28% | 0.0%| 2.8%
28% | 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
28% | 00%| 0.0%| 0.0%| 0.0%| 0.0% | 0.0%
13.9% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
5.6% | 28%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%
90.0% r
80.0% r
700% 1
60.0% r
500% r
400% r
300% r
200% r
13.9%
10.0% 1
[ - in® 564
0.0% 1 / / | 1
U
—/ 83% 139% 28% 28% 28%
C—3co2 00% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00%
| m— | 00% 139% 83% 111% 00%
—/ 28% 28% 56% 56% 28%
— 00% 28% 28% 28% 00%
—_—— 139% 389% 194% 361% 56%
100.0%
90.0%
80.0%
70.0%
60.0% [
500%
400%
300%
20.0%
10.0% [
0.0% O Ell:l O
— 185% 33.3% 11.1% 3.7% 3.7% 0.0% 3.7% 3.7% 74%
/3 co2 40.7% 185% 14.8% 0.0% 0.0% 0.0% 0.0% 3.7% 3.7%
/] co2 11.1% 11.1% 74% 0.0% 0.0% 0.0% 0.0% 0.0% 3.7%
| — | 185% 14.8% 11.1% 3.7% 74% 0.0% 0.0% 3.7% 3.7%
—/ 11.1% 74% 185% 0.0% 3.7% 0.0% 0.0% 11.1% 0.0%
— 3.7% 11.1% 0.0% 74% 3.7% 0.0% 0.0% 3.7% 74%
—— 51.9% 66.7% 185% 33.3% 22.2% 0.0% 185% 37.0% 11.1%
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100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

7.4%

0.0%
== 37% 37% 00% 00% 00% 37%
== co> 37% 00% 00% 00% 00% 00%
—co2 00% 00% 00% 00% 00% 00%
= 00% 37% 00% 00% 00% 00%
== 00% 00% 00% 00% 00% 00%
== 00% 37% 00% 00% 00% 00%
—— 37% 37% 37% 37% 185% 74%
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59.1%

40.9%
co2 CO2
()
40.9% | 27.3% | 9.1% | 0.0% | 4.5% | 4.5% | 22.7%
72.7% [ 27.3% | 9.1% | 0.0% [ 50.0% | 18.2% | 9.1%
31.8%( 0.0%| 0.0%| 0.0%| 22.7% | 0.0% | 0.0%
68.2% [ 22.7% | 9.1% | 0.0% [ 27.3% | 13.6% | 13.6%
45% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
59.1% [ 22.7% | 45.5% | 4.5% [ 13.6% | 9.1% | 22.7%
63.6% [ 18.2% | 18.2% | 4.5% | 27.3% | 9.1% | 9.1%
182% | 4.5% | 27.3% | 9.1% | 9.1%| 36.4% | 4.5%
22.7% | 0.0%| 0.0%| 0.0% | 45%| 45% | 0.0%
13.6% | 45% | 45%| 0.0%| 45%| 4.5% | 0.0%
13.6%| 0.0%| 0.0%| 0.0%| 45%| 0.0%| 0.0%
13.6%| 0.0%| 0.0%| 0.0%| 45%| 0.0%| 0.0%
31.8%( 45% | 45% | 0.0%| 91%| 9.1% | 4.5%
182% | 45% | 0.0%| 0.0%| 45%| 0.0%| 4.5%
13.6% | 45% | 45%| 0.0%| 45%| 0.0%| 0.0%
45%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
45% | 45% | 0.0%| 00%| 0.0%| 4.5% | 0.0%
45%| 0.0%| 0.0%| 00%| 45%| 0.0%| 0.0%
22.7%( 9.1%| 91% | 0.0% | 22.7% | 9.1% | 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

Il 4.5%

0.0%
— 273% 273% 00% 227% 00%
—=3co2 91% 91% 00% 91% 00%
—co2 00% 00% 00% 00% 00%
| — | 45% 500% 227% 273% 00%
— 45% 182% 00% 136% 00%
— 227% 91% 00% 136% 00%
— 409% 727% 318% 682% 45%

100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0% B

30.0%

20.0%

6.7%

10.0%

00 M Mm o g mllhnas
— 20.8% 16.7% 42% 0.0% 42% 0.0% 0.0% 4.2% 4.2%
=3co2 41.7% 16.7% 25.0% 0.0% 42% 0.0% 0.0% 4.2% 0.0%
E==3co2 4.2% 4.2% 8.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
 m— | 125% 25.0% 8.3% 42% 42% 42% 42% 8.3% 4.2%
— 8.3% 8.3% 33.3% 42% 42% 0.0% 0.0% 8.3% 0.0%
 — 20.8% 8.3% 42% 0.0% 0.0% 0.0% 0.0% 4.2% 4.2%
—— 54.2% 58.3% 16.7% 20.8% 12.5% 125% 125% 29.2% 16.7%

32




100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0% ®—0.0%
== 42% 00% 42% 00% 83% 00%
== co> 42% 00% 00% 00% 83% 00%
—co2 00% 00% 00% 00% 00% 00%
= 42% 00% 00% 42% 208% 00%
— 00% 00% 42% 00% 83% 00%
— 00% 00% 00% 00% 00% 00%
—— 125% 42% 42% 42% 208% 00%
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15.4%

84.6%
co2 CO2
()
15.4% | 0.0%| 0.0%| 0.0%| 00%| 7.7% | 7.7%
30.8%  0.0%| 0.0%| 0.0%| 15.4% | 0.0% | 7.7%
23.1% (| 0.0%| 0.0%| 0.0%| 7.7%| 0.0%| 0.0%
23.1% (| 0.0%| 0.0%| 0.0%| 0.0%| 7.7% | 0.0%
7.7%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
30.8%  7.7% | 15.4% | 0.0% | 7.7% | 7.7% | 15.4%
15.4% | 0.0%| 7.7% | 0.0%| 00%| 7.7% | 0.0%
77% (| 00%| 0.0%| 7.7%( 0.0%| 7.7%| 0.0%
77%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
77% | 00%| 7.7%| 0.0%| 0.0%| 0.0%| 0.0%
15.4%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
7.7%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
23.1% (| 0.0%| 0.0%| 0.0%| 00%| 7.7% | 7.7%
15.4%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%




100.0%

90.0% |
80.0% |
70.0% r
60.0% r
50.0% |
40.0% |
30.0% |
20.0% r
10.0% r
7.7%
0.0%
[ ] 00% 00% 00% 00% 00%
—3co2 00% 00% 00% 00% 00%
——co2 00% 00% 00% 00% 00%
| 00% 154% 7% 00% 00%
— 7% 00% 00% 77% 00%
— T1% 7% 00% 00% 00%
—— 154% 308% 231% 231% 77%
100.0%
90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
33.3%
30.0%
20.0%
6.7% 6.7%
10.0% |:| |:| I:I:l
0.0%
— 8.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
=—=1c02 16.7% 8.3% 0.0% 0.0% 8.3% 0.0% 0.0% 0.0% 0.0%
=—=1C02 0.0% 0.0% 8.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
= 8.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
— 8.3% 8.3% 8.3% 0.0% 0.0% 0.0% 0.0% 8.3% 0.0%
—] 16.7% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 8.3% 0.0%
—— 33.3% 16.7% 8.3% 8.3% 8.3% 16.7% 8.3% 25.0% 16.7%
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100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0%
] 00% 00% 00% 00% 00% 00%
] 00% 00% 00% 00% 00% 00%
Oco2 00% 00% 00% 00% 00% 00%
Oco2 00% 00% 00% 00% 00% 00%
o 00% 00% 00% 00% 00% 00%
o 00% 00% 00% 00% 00% 00%
] 00% 00% 00% 00% 00% 00%
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78.6%

21.4%
co2 CO2
()
64.3%( 7.1%| 3.6% | 0.0% | 32.1% | 10.7% | 14.3%
67.9%  21.4% | 0.0% | 0.0% | 32.1% | 21.4% | 14.3%
50.0%  3.6% | 0.0% | 0.0% | 25.0% | 0.0% | 3.6%
50.0% [ 10.7% | 0.0% | 0.0% [ 21.4% | 0.0% | 10.7%
10.7% | 0.0% | 0.0%| 0.0%| 7.1%| 0.0%| 0.0%
78.6% [ 32.1% | 60.7% | 10.7% [ 53.6% | 7.1% | 35.7%
71.4% [ 32.1% | 35.7% | 14.3% [ 17.9% | 21.4% | 10.7%
35.7% | 14.3% | 17.9% | 21.4% | 10.7% | 39.3% | 10.7%
14.3%| 0.0%| 0.0%| 0.0%| 3.6%| 0.0%| 0.0%
42.9% | 14.3% | 14.3% | 3.6% | 7.1% | 3.6% | 0.0%
21.4%( 0.0%| 0.0%| 0.0%| 0.0%| 0.0% | 0.0%
28.6% | 3.6%| 3.6%| 0.0%| 3.6%| 0.0%| 3.6%
35.7% | 7.1%| 0.0%| 0.0%| 3.6%| 0.0%| 3.6%
286%( 7.1%| 7.1%| 0.0% | 10.7% | 0.0% | 10.7%
143%| 3.6%| 3.6%| 0.0%| 7.1%| 3.6%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
7.1%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
3.6%| 00%| 0.0%| 0.0%| 0.0%/| 0.0%| 0.0%
3.6% | 3.6%| 0.0%| 0.0%| 3.6%| 0.0%| 0.0%
3.6%| 00%| 0.0%| 0.0%| 3.6%| 0.0%| 0.0%
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100.0%

90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0% 10.7%
0.0%
— 71% 214% 36% 107% 00%
=3 co2 36% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00%
| — | 321% 321% 250% 214% 71%
— 107% 214% 00% 00% 00%
| — | 143% 143% 36% 107% 00%
— 643% 643% 500% 500% 107%
100.0%
90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0% B H (
0.0% m man [l nn (I
| 32.1% 32.1% 14.3% 0.0% 14.3% 0.0% 3.6% 7.1% 7.1%
==co2 60.7% 35.7% 17.9% 0.0% 14.3% 0.0% 3.6% 0.0% 7.1%
E==co2 10.7% 14.3% 21.4% 0.0% 3.6% 0.0% 0.0% 0.0% 0.0%
| 53.6% 17.9% 10.7% 3.6% 7.1% 0.0% 3.6% 3.6% 10.7%
— 7.1% 21.4% 39.3% 0.0% 3.6% 0.0% 0.0% 0.0% 0.0%
| 35.7% 10.7% 10.7% 0.0% 0.0% 0.0% 3.6% 3.6% 10.7%
—— 78.6% 71.4% 35.7% 14.3% 42.9% 21.4% 28.6% 35.7% 28.6%

38



100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0%
== 36% 00% 00% 00% 36% 00%
== co> 36% 00% 00% 00% 00% 00%
—co2 00% 00% 00% 00% 00% 00%
= 71% 00% 00% 00% 36% 36%
— 36% 00% 00% 00% 00% 00%
— 00% 00% 00% 00% 00% 00%
—— 143% 00% 71% 36% 36% 36%
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54.2%

45.8%
co2 CO2
()
54.2% [ 37.5% | 16.7% | 0.0% | 8.3% | 20.8% | 4.2%
75.0% [ 37.5% | 12.5% | 0.0% [ 41.7% | 4.2% | 4.2%
79.2% [ 33.3% | 8.3% | 0.0%( 29.2% | 16.7% | 8.3%
50.0% [ 12.5% | 4.2% | 0.0% [ 20.8% | 0.0% | 12.5%
42% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
66.7% [ 45.8% | 50.0% | 4.2% [ 20.8% | 41.7% | 20.8%
50.0% [ 33.3% | 20.8% | 0.0% [ 29.2% | 8.3% | 8.3%
20.8%  0.0% | 29.2% | 8.3% | 8.3% | 41.7% | 16.7%
25.0% [ 12.5% | 8.3% | 0.0% | 12.5% | 8.3% | 4.2%
50.0% [ 16.7% | 12.5% | 0.0% [ 20.8% | 8.3% | 4.2%
16.7% | 12.5% | 8.3% | 0.0%| 12.5% | 8.3% | 4.2%
20.8%  83% | 42%| 0.0% | 125% | 4.2% | 4.2%
125% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
16.7% | 4.2% | 4.2% | 0.0%| 42%| 0.0%| 0.0%
42% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0% |
80.0% |
700% |
60.0% |
500% |
400% |
300% |
200% |
10.0% |
T 4.2%
0.0%
— 375% 375% 333% 125% 00%
3 co2 167% 125% 83% 42% 00%
C—3co2 00% 00% 00% 00% 00%
| — | 83% 417% 292% 208% 00%
—/ 208% 42% 167% 00% 00%
— 42% 42% 83% 125% 00%
— 542% 750% 792% 500% 42%
100.0%
90.0% I
80.0% I
700%
66.7%
60.0%
500% [ [ 50.0%
40.0% ]
300% -
200%
100%
0.0%
— 45 8% 33.3% 0.0% 12.5% 16.7% 125% 8.3% 0.0% 4.2%
/] co2 50.0% 20.8% 29.2% 8.3% 12.5% 8.3% 4.2% 0.0% 4.2%
/3 co2 4.2% 0.0% 8.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
| — 20.8% 29.2% 8.3% 12.5% 20.8% 125% 125% 0.0% 4.2%
— 41.7% 8.3% 41.7% 8.3% 8.3% 8.3% 4.2% 0.0% 0.0%
— 20.8% 8.3% 16.7% 42% 42% 4.2% 4.2% 0.0% 0.0%
—— 66.7% 50.0% 20.8% 25.0% 50.0% 16.7% 20.8% 125% 16.7%
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100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

’*42%5__§_§§»A
0.0% —0-6% *—0:0% *—0:0% *—0:0% *-0.0%

[ ] 00% 00% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00% 00%
—coe2 00% 00% 00% 00% 00% 00%
— 00% 00% 00% 00% 00% 00%
| — | 00% 00% 00% 00% 00% 00%
[ ] 00% 00% 00% 00% 00% 00%
—— 42% 00% 00% 00% 00% 00%
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54.5%

45.5%
co2 CO2
()
182% | 9.1%| 0.0%| 0.0%| 0.0%| 91%| 9.1%
545%  9.1%| 0.0%| 0.0%| 27.3% | 0.0%| 9.1%
63.6% [ 27.3% | 0.0% | 0.0% | 54.5% | 0.0% | 0.0%
63.6% [ 27.3% | 0.0% | 0.0% | 45.5% | 9.1% | 9.1%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
182% | 0.0%| 9.1%| 0.0%| 0.0%| 0.0%| 9.1%
27.3% | 18.2% | 0.0% | 0.0% | 18.2% | 0.0%| 9.1%
0.0%| 0.0%| 182% | 0.0% | 9.1% | 18.2% | 9.1%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 0.0%| 0.0%
9.1%( 0.0%| 0.0%| 0.0%| 0.0%| 0.0% | 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
36.4% (| 0.0%| 0.0%| 0.0%| 91%| 0.0%| 0.0%
72.7% | 36.4% | 0.0% | 0.0% | 36.4% | 9.1% | 18.2%
27.3% | 18.2% | 9.1% | 0.0% | 18.2% | 0.0%| 9.1%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 0.0%| 0.0%
18.2% | 18.2% | 0.0%| 0.0%| 0.0%| 0.0%| 9.1%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
18.2% | 18.2% | 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
v |
20.0% 18.2%
0.0% >0:0%
— 91% 91% 273% 273% 00%
C—3co2 00% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00%
| — | 00% 273% 545% 455% 00%
—/ 91% 00% 00% 91% 00%
| — | 91% 91% 00% 91% 00%
— 182% 545% 636% 636% 00%
100.0%
90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
27.3% 7.3%
0
20.0% 1528
10.0% |_| |-| |-| |_|
0.0% o gi—e=60 ¥-00
— 0.0% 18.2% 0.0% 0.0% 0.0% 0.0% 0.0% 36.4% 18.2%
/i co2 9.1% 0.0% 18.2% 0.0% 0.0% 0.0% 0.0% 0.0% 9.1%
—/—1co2 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
| — | 0.0% 18.2% 9.1% 0.0% 0.0% 0.0% 9.1% 36.4% 18.2%
—/ 0.0% 0.0% 18.2% 0.0% 0.0% 0.0% 0.0% 9.1% 0.0%
— 9.1% 9.1% 9.1% 0.0% 0.0% 0.0% 0.0% 18.2% 9.1%
—— 18.2% 27.3% 0.0% 0.0% 9.1% 0.0% 36.4% 72.7% 27.3%




100.0%

90.0%

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0% *—65:0%

| — | 00% 00% 182% 00% 182% 00%
C—3co2 00% 00% 00% 00% 00% 00%
—coe2 00% 00% 00% 00% 00% 00%
—/ 00% 00% 00% 00% 00% 00%
| — | 00% 00% 00% 00% 00% 00%
| — | 00% 00% 91% 00% 00% 00%
—— 00% 00% 182% 00% 182% 00%
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36.8%

63.2%
co2 CO2
()
42.1% (| 0.0% | 21.1% | 0.0% | 21.1% | 0.0% | 15.8%
47.4% | 158% | 0.0% | 0.0% | 26.3% | 26.3% | 5.3%
47.4% | 26.3% | 5.3% | 0.0% | 26.3% | 21.1% | 0.0%
89.5% [ 10.5% | 5.3% | 0.0% | 63.2% | 36.8% | 15.8%
5.3% | 53%| 53%| 0.0%| 0.0%| 5.3%| 5.3%
57.9% [ 21.1% | 31.6% | 5.3% | 36.8% | 26.3% | 15.8%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 26.3% | 5.3%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 0.0%| 0.0%
31.6% | 10.5% | 53% | 0.0%| 53%| 53%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
57.9% | 53%| 0.0%| 0.0%| 21.1% | 5.3%| 5.3%
73.7% | 5.3% | 10.5% | 0.0% | 26.3% | 15.8% | 21.1%
15.8%| 0.0%| 0.0%| 0.0%]| 10.5% | 0.0%| 0.0%
5.3%| 00%| 0.0%| 0.0%| 53% | 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0% | 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
0.0%| 00%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
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100.0%

90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0%
0.0%
— 00% 158% 263% 105% 53%
=3 co2 211% 00% 53% 53% 53%
C—3co2 00% 00% 00% 00% 00%
| — | 211% 263% 263% 632% 00%
— 00% 263% 211% 368% 53%
| — | 158% 53% 00% 158% 105%
— 421% 47 4% 474% 895% 53%
100.0%
90.0%
80.0%
70.0%
60.0%
57.9%
50.0%
40.0% B
30.0%
20.0%
10.0%
0.0% *—0:6% 60
— 21.1% 0.0% 0.0% 0.0% 10.5% 0.0% 53% 53% 0.0%
/i co2 31.6% 0.0% 0.0% 0.0% 53% 0.0% 0.0% 105% 0.0%
/1 co2 5.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
| — | 36.8% 0.0% 0.0% 0.0% 53% 0.0% 21.1% 26.3% 105%
—/ 26.3% 0.0% 26.3% 0.0% 53% 0.0% 53% 158% 0.0%
— 158% 0.0% 53% 0.0% 0.0% 0.0% 53% 21.1% 0.0%
—— 57.9% 0.0% 0.0% 0.0% 31.6% 0.0% 57.9% 73.7% 158%
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10.0%

ﬁ&%\A
0.0% —0-6% *—65-0% *—65-0% *—65-0% *0

[ ] 00% 00% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00% 00%
—co2 00% 00% 00% 00% 00% 00%
=3 53% 00% 00% 00% 00% 00%
| — | 00% 00% 00% 00% 00% 00%
[ ] 00% 00% 00% 00% 00% 00%
—— 53% 00% 00% 00% 00% 00%
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50.0%

50.0%
co2 CO2
()

25.0% [ 0.0% 0.0% | 0.0%| 250%| 0.0%| 0.0%
50.0% [ 25.0% 0.0% | 0.0%| 50.0% | 25.0% | 0.0%
25.0% [ 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
25.0% [ 0.0% 0.0% | 0.0%| 250%| 0.0%| 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
100.0% | 75.0% | 100.0% | 50.0% | 100.0% | 50.0% | 25.0%
25.0% [ 25.0% | 25.0% | 0.0% | 25.0% | 0.0% | 0.0%
25.0% [ 0.0% | 25.0% | 0.0% 0.0% | 25.0% | 25.0%
25.0% [ 25.0% 0.0% | 0.0% 0.0% | 25.0% | 0.0%
50.0% [ 0.0% 0.0% | 0.0%| 250%| 0.0%| 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
50.0% [ 25.0% | 25.0% | 0.0% | 25.0% | 25.0% | 0.0%
25.0% [ 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
25.0% [ 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
75.0% [ 25.0% 0.0% | 0.0%| 250%| 0.0%| 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
0.0% | 0.0% 0.0% | 0.0% 0.0% | 0.0% | 0.0%
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100.0%

90.0% |
80.0% |
70.0% r
60.0% r
50.0% | K5 0.0%
40.0% |
30.0% |
5.0% O—25-6% 25.0%
20.0% r
10.0% r
0.0% ®—0.0%
— 00% 250% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00%
C—3co2 00% 00% 00% 00% 00%
| — | 250% 500% 00% 250% 00%
| — | 00% 250% 00% 00% 00%
[ ] 00% 00% 00% 00% 00%
— 250% 500% 250% 250% 00%
100.0% 1000
90.0%
80.0%
70.0%
60.0%
50.0% i
40.0%
30.0%
25 0% T O T2E104 5.0%
20.0%
10.0%
0.0%
— 75.0% 25.0% 0.0% 25.0% 0.0% 0.0% 25.0% 0.0% 0.0%
/i co2 100.0% 25.0% 25.0% 0.0% 0.0% 0.0% 25.0% 0.0% 0.0%
/1 co2 50.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
| — | 100.0% 25.0% 0.0% 0.0% 25.0% 0.0% 25.0% 0.0% 0.0%
—/ 50.0% 0.0% 25.0% 25.0% 0.0% 0.0% 25.0% 0.0% 0.0%
— 25.0% 0.0% 25.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
—— 100.0% 25.0% 25.0% 25.0% 50.0% 0.0% 50.0% 25.0% 25.0%
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== 00% 00% 250% 00% 00% 00%
] 00% 00% 00% 00% 00% 00%
] 00% 00% 00% 00% 00% 00%
—— 00% 00% 750% 00% 00% 00%
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